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“He uses statistics as a drunken man
uses lampposts - for support

rather than illumination”

Andrew Lang







AY) B(Y)
Long Name
Units Sec SeC
Comments CTL Ozone
1 36 h2
2 5.7 6.5
3 32 53
n T 61
5 5.3 5.0
6 5.0 6.4
7 39 6.0
8 34 55
9 5.0 5.1
10 5.5 48




Noftes

X-Function Paired Sample t Test
User Name Otto
Time 02/11/2016 17:26:29

Input Data

Data Range
1st Data Range [BookZ2]Sheet1!A  [1%:107]
2nd Data Range [Book2]Sheet1!B  [1*:107]

Descriptive Stalistics
M Mean sD SEM
A 10 438041 1.02759 032495
B 10 559235 062191 019667
Difference -1.21194
Test Stalistics
t Statistic  DF  Prob=[t]
-3.11342 9 0.01245

HMull Hypothesis: mean1-meanz =0
Alternative Hypothesis: mean1-mean2 ==

At the 0.05 level, the difference of the population means is significantly different with the test difference(0)




lon channels. When they are open, ions can pass through them, entering or leaving the cell.

Protein subunits Pore of ion
lons of ion channel channel

Closed ion
channel

Lipid molecules

in membrane
Open ion
channel




Cd” 100 pM

current amplitude (pA)

membrane potantal (my')

e el =1 |
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Dati di partenza (n=7)

CTL(Y) Test(Y)

Long Name
Units
Comments

1 2420312 2035988

2| 22.75639  27.40887

3| 18.65462  23.71365

4 2047086 2491592

5| 2582372 2546819

6 1935893 24 38955

7| 2000294 2614283
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WE SUST
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= Paired Sample t Test (07/77/2076 27:72:49)

Notes

[

X-Function | Paired Sample t Test
User Mame Otto
Time 01/11/2016 21:12:49

Input Data

Data Range
1st Data Range [Book1]Sheet1ICT [1%:77]
Znd Data Range [Book1]Sheet1!Te [1%:77]

Descriptive Statistics

M Mean sD SEM
B 7 2166057 25901 097897
C 7 2438536 206876 078192
Difference -2.73479

Test Statistics

t Statistic  DF  Prob=|t|
-2.23266 6 0.06702
Mull Hypothesis: mean1-meanz =0

Alternative Hypothesis: mean1-meanz == 0
At the 0.05 level, the difference of the population means is NOT significantly different with the test difference(0)




Dati di partenza (n=11)

1 ol

o1
—

CTL(Y) Test(Y)

Long Mame
Units
Comments

1| 2420312  20.35988

2| 2275639 | 2740887

3| 1865462 | 2371365

4 2047086 2491592

5 2582372 2546819

6 1935893 2438955

7| 2000294 | 2614283

8| 1850387 | 2718224

g 2271913 1992831

10| 2016058 2581272

11| 2231848 2366464




T Paired Sample t Test (02/77/2076 714.08:26)

Notes
Ti X-Function Paired Sample t Test
User Name Otto

Time 02/11/2016 14:08:26

Input Data

Data Range
1st Data Range [Booki1]Sheet1!CTL  [1*:117]
2nd Data Range [Book1]Sheet1!Test [1%:117]

_T Descriptive Stalistics

M Mean sD SEM
CTL 11 21.36115 237225 071526
Test 11 2445335 246036 0.74183
Difference -3.0922

Test Statistics
t Statistic DF | Prob=|i|
-2.59174 10 0.02687
Mull Hypothesis: mean1-meanz =0

Alternative Hypothesis: meanl1-meanz == 0
At the 0.05 level, the difference of the population means is significantly different with the test difference(0D)
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Outside | B(Y)
of cell —
Carbohydrate Units pF
Proteins Comments

Cell 1 8.02
membrane 2 218
3 8.01
4 718
Inside 5 774
of cell Protein : e [ 775
{cytoplasm) channel Lipid bilayer = 6.8
8 9.04
9 722
10 8.34
Conductive plate: " 754
Wik 2
|’ d 14 8.15
T 15 694
16 7.00
. . 17 7.74
Dielectric — 809
19 9.32
20 842




frequency count

10

g

60 65 70 75 80 85 90 95

10.0

Model
Equation

Reduced Chi-5gr
Adj. R-Square

o000 o0ooOooo

Gauss
y=y0 + (A/(w*sqri(
PV2)))exp(-2*((x-
xe)wir2)
1.20751
0.9164

XC

sigma
FWHM
Height

Value
0
7.896867
1.31793
17.12279
0.65897
155175
10.36624

Standard Error

0
0.05785
0.11625
1.30386




Model Gauss
y=Y0 + (A/(wsari(
Equation Pli2)))"exp(-2*((x-
xclwih2)
"g' Reduced Chi-Sqr 3.98155
e Adj. R-Square 026007
> Value Standard Error
= Count y0 0 0
§- Count Xc 7.94739 0.1492
= Count W 1.22106 0.30403
Count A 762414 1.62389
Count sigma 0.61053
Count FWHM 1.43769
Count Height 493189

6.5 7.0 75 8.0 8.9 9.0 9.5
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4000

65

60” = 300.000 punti

-60 -99 20
Membrane potential (mV)

Time(X1) ™ cho(y)
Long Name Vmemb
Units ms mvy
Comments Vmemb
Sparklines / -
1 139948.8125  -40.79712
2 139949 -40.7666
3 13994920313 -40.9497
41 1399490 40625 -40.70556
51 13994960938  -40.64453
(4] 139949 8125 -40.61401
T 139950 -40.7666
8| 13995020313 -40.70556
91 13995040625 -40.67505
10| 13995060938 -40.67505
11 139950.8125  -40.58349
12 139951 -40.55297
13| 139951.20313  -40.64453
14| 139951 40625 -40.61401
15| 139951.60938 -40.52246
1399518125 -40.52246
139952 -40.64453

45
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Do not put your faith
in what statistics say
until you have
L. carefully
A | considered
. P @ what they
. N Y do not say.




